150







0-0002

31

07-10443000001-40




0-0003

X1000
Y2E000000
Y2E010000
Y2E010100
Y2E010101
S02001 0
7 0-0001
C ) SQZ004 0
2.5m
20 0-0002
502029 0
30 0-0003
502032 0
40 0-0004

07-10443000001-40




0-0004

( ) SQz002 0
0.2km DID
0.28m3( 0.2m3)
20 0-0005
Y2J0B000O
Y2J0BOBOO
Y2J0BOBO1
SQ149 0
204 0-0006
SQ150 0
RC-30
23 0-0007
( W=3.0m SQ155 0
40 As( )
3 2.35 /m3 PK-3
As 200 / ( ) 227 0-0008
‘ Y2J0L0000
Y2J0L0600

07-10443000001-40




0-0005

Y2J0L0606
A V0001 0
23 0-0009
Y2E1F0000
Y2E1FOLOO
Y2E1FOLO1
SQ172 0
24 0-0012
SQZ185 0
15cm
15 0-0013
SQZ184 0
15cm
204 0-0014
SQZ101 0
11.5km 22.0km DID
( , 15cm )
L=12.4Kkm 8 3 0-0015

07-10443000001-40




0-0006

SQZ207 0
o« )2t 2.9t
DID 2.0km  4.0km
L=2.1kn 0.10 0-0016
| #0042
$9910 0
8 0-0017
0005
Y¥Z5010000
S2585 0
10.8
1 0-0018
#0043
$9910 0
1 0-0020

07-10443000001-40




0-0007

07-10443000001-40




0-0008

07-10443000001-40




0 - 0009
( ) $QZ001 0-0001

[ ] i 3 MB402P

R1400

T0002

EPOO1

07-10443000001-40




0 - 0010
( ) $QZ001 0-0001

m >
I

~ P
-
T
= O
~
—

07-10443000001-40




0 - 0011

( ) SQZ004 0-0002
2.5m 3
)
T0388
R0200
R0100
T0002
EP0OO1

07-10443000001-40




0 - 0012
« ) SQZ004 0-0002

A=1 2.5m D=1 -1- -22

07-10443000001-40




02029

0-0003

0 - 0013

T0456

R0200

R1400

R2500

T0002

07-10443000001-40




0 - 0014

SQZ029 0-0003
1
( ) ( )
EP0O1
A=1 B=2
Cc=2 D=2
E=1 -2- -4

07-10443000001-40




SQZ032

0-0004

0 - 0015

R0200

R2500

T0013

EPOO1

07-10443000001-40




0 - 0016
SQZ032 0-0004

A=1 -2- -38

07-10443000001-40




0 - 0017

( ) $QZ002 0-0005
0.2k DID 0.28m3(  0.2m3) 3
)
M1004P
R1500
T0002
EPO0L

07-10443000001-40




0 - 0018

( ) $QZ002 0-0005
0.2k DID 0.28m3(  0.2m3) 1 3
( ) ( )
A=2 B=5 0.28m3(  0.2m3)
c=1 ( ) D=1
E=1 0.2k G=1 -1- -13

07-10443000001-40




0-0019

SQ149 0-0006
1

MBO31P 1
0.001

MB610P 1
0.001

T0422 1
0.001

R1400 1
0.002

R0100 1
0.001

R0200 1
0.001

R2500 1
0.000

T0002 1
0.075

#01

-100
1.00
1
A=1 E=1 -1- -2

07-10443000001-40




0-0020

SQ150 0-0007
RC-30

MBO31P
0.001

MB610P
0.001

T0422
0.001

R1400
0.003

R0100
0.001

R0200
0.001

R2500
0.000

T9105
0.127

T0002
0.119

#01

-100

1.00
1

07-10443000001-40




0-0021
SQ150 0-0007
RC-30 1

w

RC-30

-0 >
oI

-1- -4 11

07-10443000001-40




0-0022

( YW=3.0m SQ155 0-0008
40 AsC_ ) 2.35 /m3 PK-3 As 200 )

T0477
0.001

T0415
0.001

T0422
0.001

R0200
0.003

R0100
0.001

R1400
0.001

R2500
0.000

79109
0.101

77022
0.001

T0002
0.064

#01

-100

1.00

07-10443000001-40




0-0023

( IW=3.0m SQ155 0-0008

40 As( ) 2.35 /m3 PK-3 As 200 / ( ) 1
1

A=1 B=3

C=40 D=4 W=3.0m

E=3 As( ) G=1 2.35 /m3( )

H=2 PK-3 1=2 As 200 /

J=1 K=1 -1- -2,8

07-10443000001-40




07 06 01

0-0024
A V0001 0-0009
10

SQz014 0-0010
2.2

SQ170 0-0011
10

0.6 / kg kg

10
1

07-10443000001-40




SQZ014

0-0010

0 - 0025

R0200

EPOO1

A=1 -1-

07-10443000001-40




0-0026

SQ170 0-0011
0.6 7/ kg kg
( T0471
3 0.033
T0456
3 0.003
R0O100
0.050
R0200
0.054
R2500
0.025
R1400
0.003
T9106
0.049
T0002
0.483
#01
-100
1.00
1
A=2 D=2 0.6 kg kg
F=2 RC-40 H=6
M=1 -2- -2

07-10443000001-40




0-0027

SQ172 0-0012
T0437
3 0.012
R0200
0.017
R0100
0.009
R2500
0.009
R1400
0.009
T0002
0.156
#01
-100
1.00
1

A=2

B

1

07-10443000001-40




15cm

SQZ185

0 - 0028

cm

M4737P

EKO009

R0100

R2500

R0200

07-10443000001-40




15cm

SQZ185

0-0013

0 - 0029

C ) ER009
T0094
T0001
« ) EZ009
EP001

07-10443000001-40




0 - 0030
SQZ185 0-0013
15cm 1

B=1 15cm

m >
In 1
H H

07-10443000001-40




15cm

SQZ184

0-0014

0 - 0031

T0478

R2500

R1400

R0200

T0002

07-10443000001-40




0 - 0032

SQz184 0-0014
15cm 1
( ) ( )
EPO01
A=1 B=1
C=1 D=1 15cm
F=1 G=1 -3- -2

07-10443000001-40




0 - 0033

SQZ101 0-0015
11.5km 22_0km DID ( 15cm ) L=12_4Kkm 3
)
M1011P
)

R1500
T0002
EPOO1

07-10443000001-40




0 - 0034

SQz101 0-0015
11.5km 22.0km DID ( 15cm ) L=12.4km 3
( )
A=3 B=3 ( 15cm )
c=1 D=59 11.5km 22.0km
E=1

-2-25-1

07-10443000001-40




0 - 0035

$Qz207 0-0016
( )2t 2.9t DID 2.0km  4.0km L=2. 1km 1
( ) ( )
M1205P
R1400
R0100
T0002
EPO0L

07-10443000001-40




0 - 0036
SQZ207 0-0016
( )2t 2.9t DID 2.0km  4.0km L=2_1km 1

il
FNQELN
o
HH

( )2t 2.9t B
2.0km 4.0km D

07-10443000001-40




S9910

0-0017

0-0037

1.00

B

1

07-10443000001-40




0-0038

$2585 0-0018
10.8 1
S0010 0-0019
1.00
1
A=2 B=10.8
C=4.8 B D=1
E=1 - 11

07-10443000001-40




0-0039

S0010 0-0019
1
M1004
1
MS023
4t 1
T0002
5.400
R1500
0.17
#10
1
1
A=2 B=11
C=1 D=4

07-10443000001-40




S9910

0-0020

0-0040

1.00

B

2

07-10443000001-40




0-0041

X1000
Y2E000000
Y2E010000
Y2E010100
Y2E010101
SQZ001 ( 7 A=1,B=5,E=7,1=1
A= .B= ( ).E= A= -1- -7
$QZ004 « ) 20 A=1,D=1
2.5m A=2.5m 0= -1- -22
SQz029 30 A=1,B=2,C=2,D=2,E=1
A= ,B= ,C= ,D= ,E= -2-
-4
SQz032 40 A=1
= -2- -38
$0z002 ( ) 20 =2,B=5,C=1,D=1,E=1,6=1
0.2km DID = ,B= 0.28m3( 0.2m3),C= (
).D= ,E=0.2km ,6= -1- -13
Y2J0B0000
Y2J0BOBOO
Y2J0BOBO1
SQ149 204 A=1,E=1
A= = -1- -2
SQ150 23 A=1,B=1,C=100,G=3,1=1
RC-30 A= .B= ,C= mm_,G= RC-
30,1I= -1- -4 11

07-10443000001-40




0-0042

Q155 (

IW=3.0m
As(

227

A=1,B=3,C=40,D=4,E=3,6=1,H=2,1=2,J=1,K=1
,B=

.C=

),6=
200

2.35 /m3(

Y2J0L0000

Y2J0L0600

Y2J0L0606

V0001

23

Y2E1F0000

Y2E1FOLOO

Y2E1FOLO1

SQ172

24

-2- -8

S0Z185

15cm

15

,B=15cm

SQZ184

204

1,8=1,C=1,D=1,F=1,G=1

1B:

SQz101

11.5km 22.0km

3,B=3,C=1,D=59,E=1
B=

,D=11.5km 22.0km

SQZ207

0.10

1,8=1,C=4,D=1
)2t

,C=2.0km 4.0km

1D:

#0042

59910

07-10443000001-40




0-0043

G0000

Z0005

YZ5010000

52585

10.8

A=2,B=10.8,C=4.8,D=1,E=1

A=

,B= ,C=

B2 - -11

#0043

59910

Z0050

(1000

(2000

20020

G2900

(4000

Z0030

Z0031

G4100

(4800

Z0038

07-10443000001-40




0-0044

G5000

G6000

Z0039

(4900

07-10443000001-40




0-0045

1 | M1004 191 1.0000
2 | M1004P 191 0.4000

3 | M1011P 191 0.8000

4 | M1205P 191 0.0040

5 | M4737P 193 0.1500 ( ) ]

6 | MBO31P 193 0.2270

7 | MB402P 190 0.2800 [ ]

8 | MB610P 193 0.2270

9 | MS023 191 1.0000

10 | RO100 202 2.2230

11 | R0200 202 8.1592

12 | R1400 202 1.2020

13 | R1500 202 1.2100

14 | R2500 202 0.7910

15 | T0001 221 1.9500 3-1
16 | T0002 221 150.4190 3-1
17 | T0013 278 45.6000 12-1
18 | T0094 262 0.0000 9-4
19 | T0388 382 0.6000

20 | T0415 382 0.2270

21 | T0422 382 0.4540

22 | T0437 382 0.2880

23 | T0456 382 0.3690

24 | T0471 382 0.7590 ( )

25 | T0477 382 0.2270

26 | T0478 382 0.0000 ( )

27 | 77022 218 0.2270 2-2
28 | T9105 230 2.9210 5-4
29 | T9106 230 1.1270 5-4
30 | T9109 217 22.9270 2-1

07-10443000001-40



73 7 7.3
2.5m 20.9 20 20.9
. 2.4 30 32.4
41.9 40 41.9
15.9 20 15.9
1
76.6+127.8=  204.4 204 204.4
RC-30 _t=100mm 22.7 23 22.7
W=3.0m
t=40mn 09.3+127.8=|  227.1 227 227.1
1
A 150/170*200*600 22.9 23 22.9
1
A 150/170*200%600 24.3 24 24.3
t=4cn 3.0+3.0+4.5+4.05=|  14.6 15 14.6
t=4cn 76.6+127.8=  204.4 204 204.4
L=12.4kn 204.4x 0.04= 8.2 8 8.2
8.2 8 8.2
L=2. 1km, A W=73kg*1.4m=102.2kg 0.10 0.10 0.10
L=10.8km,DT4t 1.00 1 1.0
1 1.0

1.00
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RC-40
RC-30




12 .4km
20

L_

00
00
00
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00
00
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No.







11.2-3.3*1/0.9=7.5m3

(2.0+6.8)*1:1.5

20 - 8.8m2*1.202=10.6m2
///;Zf;;\\ - 1o.s+(28.8-o.90)*2éi?6m2
150/170%200%1,000|  28.4 n
150/9006*1 000 28.4 m
H100/200*1,000 2.0 m
t=40-100 47.2 m2

H=61.544

W=3.0m

L=3.0m

Al S=1:200
A3 S=1:400

Al S=1:10 A3 S=1:20

L=19.0m
A 500
( ws00% )

=)

ot
Regg

A=32.4m2( )

A=22.7m2(CAD )

L=3.0m

(1/2)

X Y
T-1 -110059.621 -76747.680
T-2 -110045.591 -76708.688
X Y
BP 0.000[ -110003.398 —76678\7880
BC.1 6.497] 6.497| -109997.018  -76680.107]
NO.0+9.00 2.503] 9.000[ -109994.540( -76680.457]
sp.1 6.250) 15.250] -109988.310]  -76680.238
NO.1 4.750) 20.000( -109983.721|  -76679.042]
EP EC.1 4.000) 24.0000 -109980.086| -76677.374f
X Y
BP-8.8 0.000[ -110063.054) -76747.136f
BP-4.8 4.000] 4.000( -110060.321f -76744.216f
BP 4.800) 8.800[ -110057.465( -76740.395)
BC.1 1.431 10.231) -110056.728] -76739.169
NO.0+4.00 2.569) 12.800 -110055.475| -76736.927
sp.1 2.949) 15.749) -110054.219| -76734.259
EC.1 5.518] 21.267| -110052.409| -76729.051f
EP NO.1 7.533] 28.800| -110050.432( -76721.782]
7.3 m3
20.9 m3
15.9 m3 | 7.3-20.9/0.9=15.92n3
32.4 m2
41.9 m2 | 32.4+19.0*0.50=41.90m2
150/170%200%1,000  24.3 m
A 150/170*200*1, 000 22.9 m
t=40 6.0 m 3.0*2=6.0m
t=40 76.6 m2 | cAD
t=40-100 99.3 m2 76.6+22.7=99.3m2
el 0.1 t | W=73kg*1.4m=102.2kg

O

Al S=1:200 A3 S=1:400

6




(2/2) S=1:500

_——
% :
A\ = ¢
e =) 2o ~ e —
= 5 S I e
) 0 )5
o2 ‘lIII' —
tl:
— b
(=405
!
< A=127.8m2 <Cj>
> = \
i X “c;k
“A=127.8m2 A\ ?W\'
I N
[ \y e \/./ a3

L=4.50m

/ e (1111
N A

A=(4.05x 21.0)+

S=1:100
( )
4.05 8
-
4.05
o
<
=
4.05
o
o
=
4.05
o
o
o
—
4.50
C A )
(4.05+4.5)x 10x 1/2 =127.8 m2

O

@/2)

Al S=1:200 A3 S=1:400

6 2




100
200

:100,H=1:

Al V=1
A3 V=1

200,H=1

3.00m  L=24.00m

W

is

<0, %

<0, %

is,

0070

170

o

00°0

10°19

€0°T9

90719

YT 19

91°19

12719

10719

€0°T9

90°19

82719

8219

1219

00°¥2

00702

G2°ST

00°%

SL°Y

29

0S¢

0579

0070

(@ 1°08) I;
B+ ON

T°ON
&3
it
o
AN
o
. TS0 D)
TS| lde gy
D!
=g
4
o |
076+dd
1708 b
dg

70.00

KBU.2 H=61.544
17100

=50.00

DL




DL=60.00

DL=60.00

DL=60.00

DL=60.00

SP1
SP1 0.6
GH=61.06
FH=61.06 v
1.2
5.14
3.05 . 2.09
112 1.47
|
H ; 0.7
|| «
4
I
[
—BP+9.0_ BP+9.0
GH=61.28
FH=61.14 0.4
6.38 1.8
2.6
2.96 3.42
1.04  1.47
I
i | 0.70
e ——— IS
T 1 oo
[
t=40-100
BC1 BC1
GH=61.28
FH=61.16 0.2
5.7 2.3
2.9
3.27 2.48

BP
GH=61.21
FH=61.21

BP

DL=60.00

DL=60.00

No.1+4.0(EP)

NO.1+4.0(EP) 0
GH=61.01 0
FH=61.01

0
3.02

NO.1
NO.1 0.3
GH=61.03
FH=61.03 0'1
0.3
3.92
3.03 10.90
0.70 ll.48
P

—

0.70

(S
|'_'|1,{ 2,

t=40-100

O

Al S=1:100 A3 S=1:200

6

4




Al S=1:10 A3 $=1:20

Al S=1:10 A3 S=1:20

( )
(=] D) S
38
=]
=40
L e =100
(100.0m2 )
=100.00 100.0 | m2
RC-30 =100.00 100.0 | m2 | t=100
=100.00 100.0 m2 =40
Al S=1:10 A3 S=1:20
( )
H100mm
8 o
—— —— <% ———4 1" gl 9 8
N
= S
£=100mm
@ 6-100*100
RC-30 t=108fim
(100.0m2 )
= 100.0 100.0 m2
RC-30 = 100.0 100.0 m2 =100
@ 6-100*100 :\1\«).0 100.0 m2
18-8-40 = 100.0 100.0 m2 =100
)
10.0m )
t=10*H100 0.10%10.00 =1.00 1.0 m2

Al S=1:10 A3 S=1:20

|
7|7 A T T A8
Tt —— =
. J -
: “’ ok CEOEE 5~
020,05 05250: TGS |
f 1
t=60mm
+=30mm
t=100mm 30 t=100mm
RC-30 t=100mm
(100.0m2 ) (100.0m2 )
=100.00 \&{0 m2 = 100.00 \m@ m2
RC-30 =100.00 100.0 m2 | t=100 /%-30 = 100.00 100.0 N2 =100
18-8-40 =100.00 100.0 2 t=100 ( ) | 100.0%0.03 = 3.00 3.0 | m3 =30
= 100.00 100.0 | m2 t=
Al S=1:10 A3 S=1:20
cC 2 =100
g
8
A <
. =
(100.0m2 )
100.00 100.0 m2
cc 20
£=200( 100.00 100.0 | m2 Ty
100.00 100.0 | m2
100.00 100.0 | m2
386 386 | Kg
77 77 | Kg
15 15 15 6 6 | Kg

O

Al §=1:10 A3 S=1:20

6

5




A A

Al S=1:10 A3 $=1:20

Al S=1:10 A3 S=1:20

A

150

Al S=1:10 A3 S=1:20

(

)

6

150/170°2Q0*1,990 A 150 _ 120
150/170%200%1,990 120%120%6Q0
3 o -
- 8 ° f 5~ 8
— =1
o N t’rg
4‘]' o
= Q 13 S
13 / S .
13 7 S J_
R0 ) 170 s 0 | 12050
RC40 170 s 170
220
220
A (10.0m ) 0.om ) C D 10.om )
0.17*10.00 = .
0.22*10.00 =2.20 2.2 m2 0.22*10.00 =2.20 2.2 n2 1.70 1.7 \mg
RC40 _ ]
RC40 | 0.22*10.00 =2.20 2.2 h\ RC40 | 0.22*10.00 =2.20 2.2 m2 0-17*10.00 1.70 1.7 m2
*0_ 02 -
13 0.17*0.02*10.00 =0.034 0.03 m3 13 0.17*0.02*10.00 =0.034 0.03 m3 13 0.12%0.02*10.00 0.024 0.02 n3
120%120%600 - :
150/170*200*1,990) =10.00 10.0 m %Efsgg/m 150/170*200%600 =10.00 10.0 m 72.5Kg/m 10.00 10.0 n 20Kg/
Al S=1:10 A3 S=1:20
990 \(\ /aikﬁ/
225 ) 5 )
A 200
150/170*200%990 3
: 0.1 0 /:240/ 2.2 m2
3 RC40 0.18*10.00 =2.20 2.2 m2
— o
g =1 I A - 13 0.17°0.0241000 o | 0w | w
3 V. T 70\ 8l
13 /Z /2/ /2/ 2/ 150/ *990 10.00 \mxg\ mn 63Kg/
13 (0.225+0.25)*1/2*0.05*0.17%1/2*10.00 =0.010 0.01 3
13 10 | 250
RC40 180
240
Al S=1:10 A3 $=1:20 Al $=1:10 A3 S=1:20
1,000
1,000
550 450
"‘ A 150 550 450
H200/100*L1,000
N T
2| g / %
- — S =3 o 3 2
— — — o
R v ”’¢ I 5 3 S
XL g ¢
- i z Z
| 1,000 | rs
, 5(3\_ 170 \_ \1-0\00 J
RC40
220
A (0.0m ) (10.0m )
0.24*10.00 =2.40 2.4 2 0.22*10.00 =2.20 2.2 n
RC40 0.24*10.00 =2.40 2.4 m2 RC40 0.22*10.00 =2.20 2.2 m2
13 0.19*0.02*10.00 =0.038 0.04 m3 13 0.17%0.02*10.00 0.034 0.03 3 AL 5=1:10 A3 $=1:20
H200/100*L1,000 10.00 10.0 m SQKDN A |200/100%L1,000 =10.00 10.0 m 63Kg/m 6




